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( Statistical Methods )
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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

'l.  Choose the correct option/Answer the
question of the followmg (any seven)
1x7=7

AT Teaht AR et/ oere ol e TeR
et ¢ (Riewtet )

{a) The geometnc mean of 2, 4, 16 and 32

is . (Fill in the blank)
2, 4, 16 S 32 J ST Wi (22 |
(T HZ %79 )
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(b)

Mailed questionnaire method cannot be
adopted if the respondents are

(Fill in the blank)

| ORGAR (AF el 2R TR FRI ARIR

(c)

@

(e)

0

Tz Tewmrel
State Newton’s forward interpolation
formula.

ﬁ%ma_wm@fwmm'

In a frequency distribution, the last

~ cumulative frequency is 100, then Qs

the third quartile must lie in

o1 RIS Rorer= T (157 A qrcars
100 R, (SR POIN 59dss oo o
EXH | '

(i)- 25th item (25 w%) -

(i) SOth item (50 ww)

(iii) 75th item (75%w)

(iv) 100th item (100 ww)

For a skewed distribution mean = 5,

median = 4, find the value of mode.

B! R T 1T = 5, e = 4 orm TS
T Fef 1) ,

What is coefficient of variation ?

Roedt e i e
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(k)

@
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If SD of x is 5, find the SD of 15x.

M x I NS [ 5, (O T 15x § WD
Roem Sferedi| |

State the advantage of coefficient of
variation over standard deviation.

gifae Roerm geme R adisss JRAG!
=

The arithmetic mean of n natural
numbers for 1 to n is .

(Fill in the blank)
1 T 98 n &F n B TrORS MY Ay LA
] (3T 312 939 FL)

Write down the formula of B and B,.

\

ﬂlmﬂzaﬂgﬁt%‘aﬁl s

If in a series, 20% values are greater
than 75, then = 75.

(Fill in the blank)
A @B (NFT 20% TW 75 OIS O =,
®___- =751 (I 3% 999 )

Quadratic mean is‘preferred most, if
the data set contains some __
number. (Fill in the blank)

Data set © &g Y1 AfRTe faars
TR @R BT A (AT HE o7 )
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"~ 2. Answer any four of the followmg questions :
‘ 2x4=8 .,

were faal ﬁmm BIfIbY ey Tex forar ¢
{a) Define interpolation.
ST ket |

(b) Describe any one diagram used for-
representation of statistical data.

R S efSRftee Aw s R
B T I A | |

(c) Denve; an expression for a measure of
association between two attributes.

WQWWWW%
P e

(d) Write down one
: me
of mode. rit and one demerit

Seaia 4/37 B R b T fora
(¢) - Find the value of : (A Sferedt )
[iz].ex « Ale* h
E Eo”
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(9)

4]

What do you mean by numerical
integration ? Write the formula of

Simpson’s 3 /8th rule.

ﬁ\ﬂmwﬂﬂqﬁmﬁ{m?m 3/8
wg a0 o - :

What do you mean by primary and .

. secondary data ?

siafi IR (N © 3R & g@ne

Write one advantage and one
disadvantage of standard deviation.

e RoerR B! IR Sie Br SR B
-l . .

Answer any three questions of the
following : 5x3=15

ik R ol e es fort ¢

v 10 dx o
(a) Calculate '1'2 Tex by -dividing the

range into eight equal parts.

10 dx -
fy Trg ¥ TR S SR TS i
R TN Thel |
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(b)
(c)

(d)

(e)

Define any two measures of dispersion.

- 2%+2Y=5
RIcare! 51 eier ol 31 <1 |
Write a note on skewness and kurtosis.

éﬁ:“;‘@'WWwﬁmaﬁwm
|

Given : (W wigg 3

10 10

Z?.Ux =500426 YU, = 329240
S 4 7

10 - '
;Ux%175212 and U, = 40365 .
Find U,. (W% feat v;)
If Ur=a+bx+cx?, prove that o i |
=g
[  v,ax=2v, +l(u —2U

2+75 W 2+Uy)

DI§CUSS Newton-Raphson method

FEBA-tot5w stmfionst agmept <mqy
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(h)

Answer any three of the following :

‘Given that : (3 SR 9)

@)+ f@)+ f(3)=25
f(4)=29
f5)+ f(6)=113
Estimate the value of f(10).

£(10) 3 W Tfreat

State ‘and prove Newton’s backward
interpolation formula.

FRODR ST FFEh! Bl @Ie e 3

10x3=30

o g A e e i ¢

(@) ()

Explain how median can be
obtained graphically from ogive
"and histogram. ' 4 .

- efie TR TIMHET TS GRS ARSI

- N (TS fRmie R 1R g 4
(i) Draw the ogives for the following
distribution showing the number

of marks of 106 students in a
particular subject : 6
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106 & ga] <ot Rma (IR T
At &mm| cormet wigaw <= ¢ -

Marks - 1 0-5 5-10 10
: 0- -15 15-20 20-30 30-50 50-
No.of students: 5 10 925 99 lf;3 ’ 30205 ’ 50870

‘(b) ()  Given the following ultimate class

frequepo:;ies, find the frequencies
of positive class : 5

OIS G kel i g | A
ARRITOFE [efy 3y
(ABC)=149 (aB))=73s (ABC) =225
(487)=1196 (aBC)=204 (aBy)= 1762
(@BC)=171 (apy)=21842
i) Find the

frequencies,
data :

Temaining class

given the- following
| 5
TR & R AR Ry 2 ¢
N=23,713 (A)=1618 (B)=2015
(c)§77o (AB)=587 (AC)=428

L )=335 (ABC)=156
(€ () If the two lincs of regression are |

1
X = —
T8aYto,

V(x)=4
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Y =4_:x+15 and

(ti)

@ 6

'(a) find the correlation coefficient

between x and y
(b) the mean values of x and y

(c) standard deviation of y
‘ - 2+2+2=6

1
=—1y+9

Iff e AMETG @A X 64y ,

y=4x+16 % Vix)=4

W Tfereat

(a) x T y I NG TV WIS
b) xO% yITEG

(@ -y I W Roem

Prove that correlation coefficient
is the geometric mean of regression
coefficients. ' 4

oIl T ([ FOTIE VARS (TR O
AT Qe SIS M|

Given the values : (W@ TR I 2)
x:' 0 01 02 03 -04
y: 1 1.095 1.179 1.251 1.310

Construct the table of divided.
difference. 6

Roiitre S Qv Siffl g |
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)

) ()
(i)
)

Define multipl i
correlation. Pl and pal‘-tlirl

::2“ RIS OSSR ST e
I

Define standard deviation. wa is :

it affected if every observation is

(1) multiplied by a constant m and

(i) increased by n ? 1+4=5

RS fveme e o) ofi ST

RGPS FE () 475 m @ o w1 2w

1% (ii) n QIR |, o8 e
RIS AORIfES 292

State Lagrange’s interpolation

formula. With
. th i
formula prove tha: : el of this

ul=u3~0.3(u5~u_3) +0.2(u 3~U )

. 1+4=5

NG F2TBt foray '
|

ey Ey aam T

U = uy -0.3(y.
1=U 3(u5~u_3)_+0.2(u_3_u5)

4
TR SN Rt by < eispe 2y
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X

(i) Show that : —|sTs].

el @ 8 - |<r <l

. (i) Find the value : (17 TfeA ) 3

@ O

y: 200

Nx (n>r)-
Estimate the missing terms in the
following data : 5

¢ WNER T =i ¢

1975 1980 1985 1990 1995 2000 12005
220 260 ___ 3500 __ 430

(i} Ifn and np are the sizes, G; and

, logG=(

G, the geometric means of two
series respectively, prove that the
geometric mean G of the combined

series is given by

ny +ny

W ny o= mmw’qlm G2

TR B (TR ST T T | (9T

i T (T RIS (AT ST G G
wore Al 4aeR e IR AR ¢

ny log G, + n, log G,
- n; + n,
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(h) (i) The geometric. mean of 10
observations on a certain variable
was calculated as 16.2. It was later
discovered that one of the
observations was wrongly recorded
as 12.9; in fact it was 21.9. Apply
appropriate correction and calculate
the correct geometric mean. 5
95l HeIFY 89O I 1051 oI TwIR
BAGT My 5191 IR (oAl Coifeet 16:21 -
forze wifwis 1 w2fRm @ bt A
T 12.9 Bpitel (36 a1 (e aigers
T 21.9 | BolgS N AT 3]
% AT GTANGT g o I/

(i) The first of the two samples has
100 items with mean 15 and
standard deviation 3. If the whole
group has 250 items with mean

15.6 and standard deviation

J13.44 , find the standard deviation
of the second group.

W TER feete dawtie 100%1?113@
TR T M TR 15 G NS [oew
@z 31 3t 79 (a5 250 Ry A
TR IF NG & 15.6 WiF IF [oew
?4 J13.44, mﬁa—‘%mw
Reem e =1
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